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PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. x°-7x* +14x - 8 = 0 erémp sweTUT g6 @ GoOU)
gpeULD
1
(o) -2 () 5



One real root of the equation
x° —Tx* +14x -8 =0 is

(@) -2 (b)

o |

1
(© ) d 2

x? —4x® +4x-16 =0 eanp soETUT g @)W
ppemseT 20 OMIL — 2 erefler Sgear HmGLLTE
gpeOLD
(=) 1+ (=) 1-1
@) 2-i (r) 4

If the equation x® —4x®> +4x-16 =0 has two
roots 2i and -2¢ then, the other root 1s

(@ 1+ ® 1-i
() 2-1i d 4

x*—ax® +bx®’ —cx+d =0  eamp  swETUT g6n

P EBISET 6T G (H SV

-b b
(=) — (=) —
(@) «a (F) -a
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The sum of the roots of the equation

xt—ax® +bx® —cx+d =0 is

@ -2 ()

a

© «a d -a

b
a

xt - 2x% +6x% + 26 —1 = 0-ar @@ epid a erafled

(91) —a-bemaped
1 . .
(=) 5 L eC yaw

(@) 1-0en e
()  Cupaadu egiloena

If a is a root of x* —2x® +6x2 +2x -1 =0 then

(a) —a isalsoaroot (b) L is also a root

a
(¢) 1isalsoa root (d) none of the above
3x> -10x* +9x +2 =0 eTe FLOGTUITL lg 60T

ppOBIGMET -  QumES@L  Curg L@
o (HLOMHIL FLOGTLITL_TEE

(=) 3x® —100x? + 900x + 2000 = 0
(<) 27x® —90x® +27x +2 =0

(@) 3x® -30x” +8lx +54 =0

()  9x® —30x% +27x +6 =0
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When the roots of the equation

3x® —10x% + 9x + 2 = 0 are multiplied by 3, the
transformed equation is

(@ 3x® —100x? + 900x + 2000 = 0
®) 27x* —90x* +27x +2 =0

() 3x®-30x*+8lx+54=0

(d  9x® -30x%+27x+6 =0

xt —12x° + 48x% —72x + 35 = 0 eTem ST g 60T

@)resTLmLD 2 milienL B, T CLP GV TBIGEIT
% GDEsLILIL. Couer(hLb.

(=) 1 (=) 2

(@) 3 () -1

To remove the second term of

xt —12x® + 48x% — 72x + 35 = 0 the roots are to be
diminished by

(@ 1 (b) 2

© 3 d -1

x% —6x —13 = 0 eramm sweTUT g6 @ QU peotd
Qe Cuwr @)(m&@ELb.

(@) 0wppid 1 (@) 1wppid 2

(@) 3wnmb4 () -1 om0
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One real root of x> —-6x—-13 =0 lies between

(a) Oandl1 (b) 1land?2
(c) 3and4 (d —-landO

f(x) eremugy n g Qe LoemULECsTma crefe,

fx)=0 erem sweTLT 14DHES
IGEICTY

(1) N epeBRISET (=) n—1 ppeomiser
(@) n+1 epoomiser (F)  n—2 ppeomiger

If f(x) is a polynomial of degree n then the

equation f'(x) = 0 has
(a) n roots (b) n -1 roots

(¢) n+1 roots (d) n -2 roots

BIe@GLG FOGUT IqenaT STEGD @ (LPEnDHLITETS)

(=1) &6 (penm (<) Bluplrarpep
(@) Quirfl wem ()  Qevdrmerdl (penm

One method of solving a biquadratic equation is

(a) Cardon’s method (b) Newton’s method
(¢) Ferrarils method (d) Lagrange’s method

Page5 Code No.:41141 B



10.

11.

apx® + 3a,x% + 3a,x +a; =0 GTETM (pLig
FLOGTLIMTL g 60T STl 601 [BlanevITET GUllq eUTag)

(@) 2°+3Hz+G =0

(=) 22+ Hz+G=0

(@) apx’ +ax® +ax+a; =0

(/) 2°+3Hz>+G =0

Cardon’s standard form of the cubic equation

apx® + 3a,x% + 3a,x + a; = 0 is
(@ 2°+3Hz+G =0

® 2*+Hz+G=0

© aux® +ax® +a,x +a; =0

d 2*+3Hz*+G =0

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(=) 2x° —11x* +38x —39 = 0 erenp SOETLITL Ig 6T
@ epeld 2 — 3i erafled @ Faamun L Siés.

If one root of the equation
2x% —11x% + 38x — 39 = 0 is 2 — 3i, solve the
equation.

Or
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12.

13.

(<=4)

x* + px® +qx® +rx +5 = 0-ar Qm
gpemsaian QLUMmE@EGS CFTans Fer HDm @)m
gpeomsaiar  QUMESES CFTssHE — FLOWOTS
BmEED Coaib, 7° = p’s s st (Hs.

If the product of two roots of
x* + px® +gx® +rx+5=0 is equal to the
product of the other two. Show that,
r? = p’s.

x" —x*+1=0-an peisaiear 6-b BESHer
Fa(hBe S eTam ST (Hg.

Show that the sum of the 6t powers of the
roots of x" —x* +1 =10 is z.

Or

A —x + 1)3 = 27x*(x -1  eranug e

Blanewirer gamedp Foerum® erar Hr(h.
Show that 4(ac2 -x+ 1)3 = 27x%*(x —1) is a
standard reciprocal equation.

¥ +x>+x-100 =0 eram ST Iq6
PPOBIGENET 4 -6 GO D.

Diminish the roots of the equation
x® +x” +x -100 = 0 by 4.

Or
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14.

15.

4x® — 21x* +18x + 20 = 0 eTétrm FDETITL I 6t
EPOBIGET 6T @) ULIGLEDLI FHTEHTS.

Find the nature of the roots of the equation
4x® — 21x* +18x +20 = 0.

4x® —12x” —15x -4 = 0 erenp SOEUT g MHEG
@il el crafléd Sigemar Srés.

Solve 4x® —12x* —15x —4 = 0 given that it
has a double root.

Or

x*=3x+1=0 erenp sweTUM g6 pporisar 1
wHnID 2 &@& Qe Cu 2 dmeng eTaildr Hanen
@ B&W LjeTatlsetled sremrs.

Find correct to 2 places of decimals the root

of the equation x* -3x+1=0 that lies
between 1 and 2.

x* —10x” + 35x” —50x +24 =0 - Qugn
Wenuild Erés.

Solve x* —10x® + 35x% — 50x + 24 = 0 using
Ferrari’s method.

Or
2x% +3x* +3x +1 = 0 -3 §iés.

Solve 2x® +3x2 +3x+1=0.
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16.

17.

PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(=)

x° —x* +8x% —9x — 15 = 0 eremp s0ELIT I 6
@ omsdr V3 wombd 1-2i  eafld
Q&goaUT L §Tés.
Solve the equation
x® —x* +8x2-9x-15=0 if ¥/3 and 1-2i
are two of its roots.

Or
px’+qx® +rx+5=0-ar pomisdr &m0
Qar_fer @m&s Coemaiwmear wHmid CurglLomer
Blubgen e 2¢° + 27p®s = 9pqr CTTLIGNS
HITETS.
Show that the roots of the equation
px®+gx* +rx+s=0 are in arithmetic
progression iff 2¢® + 27p®s = 9pqr.
x* —x® —19x% + 49x — 30 = Oeremm
gweum 4nE () Yo’ wppgn () Xa”-g
Ser(HL4l1g..
Find () Yea® (i) Xa? for the equation
x* —x® —19x% + 49x - 30 = 0.

Or
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18.

19.

6x° — 5x° — 44x" + 44x® + 5x -6 = 0 -3
Erés.

Solve 6x°® — 5x° — 44x* + 44x® + 5x -6 = 0.
xt —12x% + 48x” - 72x + 35 = 0 -3 @yaRTLmbd
2 milienu BE@GeuSET epeLons Sids.

Solve x* —-12x +48x* -72x+35=0 by
removing the second term.

Or
x* +4x® —20x% +10 = 0 eremp  SELITL I 6T
P EOBIGEIT GIT @) UICDEN LI &HTEHTS.
Find the nature of the roots of
x* +4x® =202 +10=0.
x® - 2x% +3x -4 =0 ererp Qs eperiisafer
eTevTemtlSensg LHMILD HlenaEnWL &Tams:.
Find the number and position of the real root
of x® —2x* +3x -4 =0.

Or
x? —2x% —3x —4 = 0 ererp FETUT Ig 6 LS
ppemsameT eperm S0 Leataflserns  SlmsS)
HITGHTS.

Find the positive root of the equation
x® —2x% —8x —4 = 0 correct to three places
of decimals.
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20.

(@) x° -3x+1=0-gsr_afler wapulle Siés.
Solve by Cardan’s method x* —3x +1 = 0.
Or

(<) 4x* +8x° +12x% + 4x + 5 = 0 eTerm
gwearumenL Qugml (pappuied Sids.

Solve 4x* +8x® +12x* +4x+5=0 using
Ferrari’s method.
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